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SN

mERE—592— (29) 2—2x22%2L _ (59429) (59—29) —210 %

—=88x30—105=2535
(B) 2.41[# > f5fF; ABCD 1 » AB =15 AD =17 » ST - (H]E%: D 7%
£BC —%5F > 3%RBF+EF=2 (A) 16.2 (B) 182 (C) 20.2 (D) 22.2
Sol)AF = AD =17 .".BF =+172-15? =8 4
SLEF =x » HIDE =x » CE =15—x » Y. CF =17—8=9
S AEACEF f1 s x2= (15—x) 2492=225—30x +x%+81

30x=2306 ° X11002 —10.2 » BF+EF=18.2

1

B T

ZE/NEEE —fir) (A) 1.915 (B) -1.915 (C) 1.73 (D) -1.73

o B BT 2B g,

WN7’— (3 (71— (V3 2

(D) 3%+/3=1.732 7 =2.645 » xt3k =92 (FHUWRAA




$-EhT Ph.D. 4

e (- 3)“ > —5* 7.7 1 -1
D) 4.3 {Lf 2 -\[(:33)7 - Iysf_om ey 2c
(D) 4351l ——-(-33) (_5\@)2*‘(9) 5 ()3()3()
e (D) '_
Sol) (3)11 33+ (- —)x— 33-33+5+(-3):27-33+5-3=f
255 3 3

(A) 5 a=12 +7 »b=+11 + 8 - Jbz—az—‘?(A)4(\/_ J21) (B)
-4(+f22-421) (C) 2(¥22-~21) (D) -2(+/22 -+/21)

Sol) b2-a2= (V11 ++/8)2-(V/12 ++/7 )2 =11+8+2 /88 -(12+7+2/84)
—2./88-2/84 =422 -4/21 = 4(J/22 -\/21)

(B) 6355 E(11+ V119 )°x(11— V119 )= 2 (A) 22+24119 (B) 22-2J119 (C)
2242119 (D) -22-24/119

Sol)."(11+ V119 )x(11— V119 ) =11 — (VI19) =121—119=2
SR = (11443 ) 8% (11— 3 ) 5% (11— /3 ) =2x(11— /119 )= 22-2\/119

(C) 7.8ta=17 -3 > b=+13-47 > ¢c=15-5 > [t a~ b ~ c B9A/ B
Bl ? (A) a<b<c (B) a<c<b (C) b<c<a (D) c<a<b
Sol) a?= (17 -4/3)2=17-2./51 +3=20-2./51
b2= (J13-/7 )2=13-2/91 +7=20-2/91
2= (J15-4/5 )2=15-2/75 +5=20-2/75
Q V91 >.75>.61>Va-b-cHaf=>b<c<a
(B)8.CAI Xy ¥ B FE8 - 3Jx —5./y =15 H 2/x +3./y =48 R x-y=?
(A) 199 (B) 189 (C) 179 (D) 169
3\&_5\/_ 15------ )
ST B

@x5 : 1of+15[ 240--@ » @+@ : 19+/x =285 /x =15
.X=225 ..2x15+3,/y =48> 3./y =18 [y =6>y=36 x-y=189

(C) QAISRTHE (VX ) FomIx (B sy il (V2 ) =1-(6) =2
A7 + V11 +13+4/17 =2 (A) 10 (B) 11 (C) 12 (D) 13
Sol) "' 22=4>3P2=9>42=165°=25> .. K{EFX=2+3+3+4=12

(C) 10 X1 x » y 2858 » H (2x+3y—3)* + ./ (3x—4y—13)* =0 - 3k 15x-4y

HYFITHR - (A) £3 (B) 15 (C) £7 (D) 19

2X+3y=3

3x—dy=13 X3 ¥y= 1

Sol) | 2x+3y—3 | + | 3x—4y—13 | =O:>{

. 15X-4y=15x3-(4x(-1)) =49  .".15x-4y [ ITHE=+ /49 =7



